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Grade: II  Div: ….       Max Marks :25                

Date : 07.03.17               Time: 1 hour             
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I.  Fill in the blanks :                                                                                                      (½ x 5 = 2½) 

a) Repeated addition of same number is ________________________. 

b) 315 - ____________ = 314 

c) Double of 12 is ____________ 

d) 500 + 0 + 50 = ____________ 

e) A crab has 8 legs, then 3 crabs have ____________ legs. 

II.   Do as directed:                                                                                                           (1 x 2 = 2) 

a) Share equally to find how many mangoes in each basket –  

                                  

  ____________ mangoes in each basket.  

   

   

 14 sweets put into groups of 7 gives ____________ groups. 
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III.  Write whether the statements below are True or False :                                   (½ x 5 = 2½) 

    a)    4 groups of 7 are 28.                                         _______________ 

        b)    Equal sharing means division.                         _______________ 

        c)    The difference between 990 and 0 is 0.         _______________ 

        d)    5 x 3 = 3 x 5 = 25                                                 _______________ 

        e)    The sum of 800 and 200 is 100.                         _______________ 

IV.  Match the following  :                                                                                                  (½ x 4 = 2) 

                                                                3 x 4 

                                                         2 groups of 5 

                                           3 + 3 + 3 

                                          2 + 2 + 3 + 3 

        
V.     Solve the following :                                                                                                    (1 x 4 = 4) 

 
 
 
 
 
 

   H    T   O 

   4    8   3 

   5    0   6 

   

   H    T   O 

   6    2   2 

   2   2   1 

   

(a) (b) 

   + -  

b)  

a) a) 

c)  

d)  
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VI.    Find the sum :                                                                                                           (1½ x 2 = 3) 
  
                        48 + 75                                                              213 + 60 + 2  

 
 
 
 
 
 
 
 
 
 
 
 

VII.    Find the product :                                                                                                  (1½ x 2 = 3) 

                  

  

 

 

 

 

   T   O 

   4    3 

      2 

  

   H    T   O 

   3    6    8 

    2    5 

   

  H    T   O 

         

     

   

  H    T   O 

        

        

        

   

   H    T   O 

       9     3 

    3 

   

   T   O 

   1     7 

   5 

  

 

(a)  (b)       

(c) 

x -  

(d) 

(a)          

   x 

(b)          

   x 
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VIII.    Read the problems carefully and solve them:                                             (2 x 3 = 6) 

a)  There are 983 trees in an orchard. 563 are                               

mango trees and the rest are guava trees. 

Find the number of guava trees.         

 

Ans: _____________________________________________. 

b)     Hema bought 11 eggs to make a cake. How 

 many eggs will she need to make 7 cakes? 

 

Ans: ______________________________________________. 

 

c)   There are 93 rabbits and 47 puppies in a  

 farm. How many animals are there in all? 

 

             Ans : _____________________________________________. 

 

 

   T   O 

       

      

       

 

   H    T   O 

           

     

   

 

 

 

   H    T   O 

           

     

   

 


